
Distributive Property
Addition Worksheet

Name: ___________________ Date: ___________________

1 2

3 4

5 6

5(x + 5) = 5(x + 5) = 

4(x + 7) = 4(x + 7) = 

6(m + 6) =6(m + 6) =

7(a + 4) =7(a + 4) =

2[(4x + 1) + (5y + 6)] =2[(4x + 1) + (5y + 6)] =

3[(2a + 4) + (3b + 2)] =3[(2a + 4) + (3b + 2)] =

5(2n + 6) =5(2n + 6) =

4(n + 5) =4(n + 5) =

5(a + 4) =5(a + 4) =

4[m + 2(m + 1)] = 4[m + 2(m + 1)] = 

6(b + 3) =6(b + 3) =

2[(3x + 5) + (4y + 1)] =2[(3x + 5) + (4y + 1)] =



Distributive Property Addition
Worksheet

Name: ___________________ Date: ___________________

1 2

3 4

5 6

5(x + 5) =  5x + 255(x + 5) =  5x + 25

4(x + 7) = 4x + 284(x + 7) = 4x + 28

6(m + 6) = 6m + 366(m + 6) = 6m + 36

7(a + 4) = 7a + 287(a + 4) = 7a + 28

2[(4x + 1) + (5y + 6)]
2(4x + 1 + 5y + 6) 
= 8x + 10y + 14

2[(4x + 1) + (5y + 6)]
2(4x + 1 + 5y + 6) 
= 8x + 10y + 14

3[(2a + 4) + (3b + 2)] 
3(2a + 4 + 3b + 2) = 
= 6a + 9b + 18

3[(2a + 4) + (3b + 2)] 
3(2a + 4 + 3b + 2) = 
= 6a + 9b + 18

5(2n + 6) = 10n + 305(2n + 6) = 10n + 30

4(n + 5) = 4n + 204(n + 5) = 4n + 20

5(a + 4) = 5a + 205(a + 4) = 5a + 20

4[m + 2(m + 1)] = 
4[m + 2m + 2] =
4(3m + 2) = 12m + 8

4[m + 2(m + 1)] = 
4[m + 2m + 2] =
4(3m + 2) = 12m + 8

6(b + 3) = 6b + 186(b + 3) = 6b + 18

2[(3x + 5) + (4y + 1)] =
2(3x + 5 + 4y + 1)
 = 6x + 8y + 12

2[(3x + 5) + (4y + 1)] =
2(3x + 5 + 4y + 1)
 = 6x + 8y + 12

Answer KeyAnswer Key


